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set.seed (1)

sim.9.13 = arima.sim(n = 50, list(ar = 0.7, ma = 0.5)) + 100

(a) BERFIIET 40 MEH, K ¢, 0 M p B LERAETHE.

train.9.13 = head(sim.9.13, 40)
arima.9.13 = arima(train.9.13, order = c(1, 0, 1))

print(arima.9.14)

Call:

arima(x = train.9.13, order = c(1, 0, 1))

Coefficients:
arl mal intercept
0.4840 0.7238 100.5635
s.e. 0.1507 0.1197 0.4086

sigma”2 estimated as 0.637: 1log likelihood = -48.54, aic = 103.09

ALK AETHE A ¢ = 0.4840,0 = —0.7238, pu = 100.5635, 15 F 5214 £ 518 % 1R K49
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plot(arima.9.13, type = 'l', n.ahead = 10)

abline(h=arima.9.13$coef['intercept'])
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ARG plot @k LR E—&.

plot(arima.9.13, type = 'l', n.ahead = 10)

lines(1:50, sim.9.13, type = 'o0')
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set.seed(2)

sim.9.13 = arima.sim(n = 50, list(ar = 0.7, ma = 0.5)) + 100
train.9.13 = head(sim.9.13, 40)

eval.9.13 = tail(sim.9.13, 10)

c(1, 0, 1))

arima.9.13 = arima(train.9.13, order
print(arima.9.13)
plot(arima.9.13, type = 'l', n.ahead = 10)

lines(1:50, sim.9.13, type = 'o')
abline(h=arima.9.13$coef['intercept'])

Call:

arima(x = train.9.13, order = c(1, 0, 1))

Coefficients:
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arl mal intercept
0.6452 0.5908 100.1684
s.e. 0.1251 0.1213 0.7792

sigma”2 estimated as 1.337: 1log likelihood = -63.37, aic = 132.75

AEnmbd .

9.14 £l 0 = 0.8,60 = 0 iy IMA(L,1) A2 K 35 AMHE, HAFERIEH 5 AMEMEEAR, LA
TMEL-S B A AT HR

KL 5 i 0 A S %% —0.8 W R 0.8,

set.seed (1)
sim.9.14 = arima.sim(n = 35, list(order = c(0, 1, 1), ma = -0.8))[2:36]

(a) FEFEIET 30 AME, K 0 BIKAUAAETHE.

train.9.14 = head(sim.9.14, 30)

arima.9.14 = arima(train.9.14, order = c(0, 1, 1))

print(arima.9.14)

Call:

arima(x = train.9.14, order = c(0, 1, 1))

Coefficients:
mal

-0.9384
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Time
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s.e. 0.1449

sigma”2 estimated as 0.8411: 1log likelihood = -39.69, aic = 81.38

0 B9 KL RAE B A 0.9384,
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plot(arima.9.14, type = 'l', n.ahead = 5)
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A A KA plot @B ey EE S —E.

lines(1:35, sim.9.14, type = 'o')
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set.seed(2)
sim.9.14 = arima.sim(n = 35, list(order = c(0, 1, 1), ma = 0.8))[2:36]
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train.9.14 = head(sim.9.14, 30)
eval.9.14 = tail(sim.9.14, 5)

arima.9.14 = arima(train.9.14, order = c(0, 1, 1))

print(arima.9.14)
plot(arima.9.14, type = 'l', n.ahead = 5)

lines(1:35, sim.9.14, type = 'o')

Call:

arima(x = train.9.14, order = c(0, 1, 1))

Coefficients:
mal

-0.8531

s.e. 0.0910

sigma”2 estimated as 1.37: log likelihood = -46.36, aic

=94.72
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